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BEIEL BEEA A4 L b} # L—
1 BR =t 4.36.69 1 2 10
2 mgE X 4.47.04 2 2 8
3 A+ B 4.49.21 3 2 4
4 0 - 5.07.82 1 1 9




5 XiE BE 5.11.24 4 2 5
6 Bl &% 5.19.72 2 1 8
7 =6 |/x 5.32.86 4 1 10
8 naE =R 7.02.68 9 1 6
9 RE 5B R 1 7
10 & IH R 2 3
11 A KA x 2 6
12 Xig B R 2 7
13 M TR R 2 9
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i B $1E 410.98 4 1 1
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1 RHE 8A 4.00.26 1 1 8
2 KEF WX 4.00.41 2 1 5
3 I BRIX 4.01.83 5 2 4
4 AH K& 4.04.46 6 2 3
5 EH RiG 4.10.01 3 1 6
6 ik B& 411.92 5 1 7
7 ey RRiR 4.49.34 7 1 3
8 Bl W®H /4 1 4
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1 MR HE 2.56.75 1 2 6
2 BR R 2.58.86 2 2 11
3 X &b 3.25.68 3 2 7
4 A# RN 3.34.34 4 2 5
5 HE oW & 2 8
6 =mE s /4 2 9
7 N FRHER R 2 10
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1 ff BR 10.17.61 1 1 6
2 Kig BR 11.58.85 2 1 5
3 fIEE i8R 12.35.18 3 1 2
4 NE EA 13.17.12 4 1 1
5 N AR x 1 3
6 i &— x 1 4
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